Biomass equations:

Dry Weight (grams)
1. Bole

2. Branch

Aspen               

                                       (Y)      =      (b)   +  (a)x   
1.) ln(DRY BOLE WEIGHT)= 4.59+2.13[ln(DBH)]

2.) ln(DRY BRANCH WEIGHT)=2.26+2.72[ln(DBH)]

Basswood 

1.) ln(DRY BOLE WEIGHT)= 4.29+2.29[ln(DBH)]

2.) ln(DRY BRANCH WEGHT)=3.66+1.84[LN(DBH)]

Beech

1.) ln(DRY BOLE WEIGHT)=4.54+2.47[ln(DBH)]

2.) ln(DRY BRANCH WEIGH)T=3.74+2.41[ln(DBH)]
Black Birch
1.) ln(DRY BOLE WEIGTH)= 4.55+2.49[ln(DBH)]

2.) ln(DRY BRANCH WEIGHT)=1.27+3.42[ln(DBH)]

Eastern Hemlock

1.) ln(DRY BOLE WEIGHT)= 4.71+2.14[ln(DBH)]

2.) ln(DRY BRANCH WEIGHT)=4.44+1.90[ln(DBH)]
Eastern White Pine

1.)ln(DRY BOLE WEIGHT)= 4.00+2.42[ln(DBH)]


2.)ln(DRY BRANCH WEIGHT)=3.46+1.97[ln(DBH)]
Gray Birch

1.)ln(DRY BOLE WEIGHT)=4.56+2.36[ln(DBH)]


2.)ln(DRY BRANCH WEIGHT)=2.83+2.38[ln(DBH)]

Hop Hornbeam


1.)ln(DRY BOLE WEIGHT)=4.89+2.33[ln(DBH)]


2.)ln(DRY BRANCH WEIGHT)=2.35+2.50[ln(DBH)]

Mountain Maple


1.)ln(DRY BOLE WEIGHT)=4.34+2.94[ln(DBH)]


2.)ln(DRY BRANCH WEIGHT)=2.91+3.24[ln(DBH)]

Paper Birch


1.)ln(DRY BOLE WEIGHT)=5.32+2.17[ln(DBH)]

2.)ln(DRY BRANCH WEIGHT)=3.07+2.30[ln(DBH)]

Pin Cherry


1.)ln(DRY BOLE WEIGHT)=4.36+2.40[ln(DBH)]


2.)ln(DRY BRANCH WEIGHT)=2.52+2.43[ln(DBH)]

Red Maple


1.)ln(DRY BOLE WEIGHT)=4.86+2.33[ln(DBH)]


2.)ln(DRY BRANCH WEIGHT)=2.90+2.41[ln(DBH)]

Red Oak


1.)ln(DRY BOLE WEIGHT)=4.91+2.36[ln(DBH)]


2.)ln(DRY BRANCH WEIGHT)=2.50+2.63[ln(DBH)]

Striped Maple


1.)ln(DRY BOLE WEIGHT)=4.43+2.32[ln(DBH)]


2.)ln(DRY BRANCH WEIGHT)=3.08+2.57[ln(DBH)]

Sugar Maple


1.)ln(DRY BOLE WEIGHT)=5.11+2.29[ln(DBH)]


2.)ln (DRY BRANCH WEIGHT)=3.39+2.21[ln(DBH)]

Witch Hazel

1.)ln(DRY BOLE WEIGHT)=4.85+2.23[ln(DBH)]

2.)ln(DRY BRANCH WEIGHT)=3.02+2.53[ln(DBH)]

White Ash


1.)ln(DRY BOLE WEIGHT)=4.51+2.56[ln(DBH)]


2.)ln(DRY BRANCH WEIGHT)=2.51+2.54[ln(DBH)]

Yellow Birch


1.)ln(DRY BOLE WEIGHT)=4.30+2.56[ln(DBH)]


2.)ln(DRY BRANCH WEIGHT)=3.37+2.35[ln(DBH)]

Red Spruce  ( Whittaker, et al)

1.)ln(DRY STEM WEIGHT)=2.2046+1.9906[ln(DBH)]


2.)ln(DRY BRANCH WEIGHT)=2.5428+0.9115[ln(DBH)]

Balsam Fir ( Young, et al)
1.) ln(DRY BOLE WEIGHT)= (-)2.0858+2.0215[ln(DBH)]
2.) ln( DRY BRANCH WEIGHT)= 2.2870+3.2160[ln(DBH)]

